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int f_1 (int *vec, int size)

{
int pr = 1, *ptr;
for (ptr = vec; ptr < vec + size; ptr++) {
pr *= *ptr;

return pr;

}

int f_r (int *vec, int size)

{

if (size <= 0) return 1;
return *vec * f_r(0 OO0, size-1);

}

(1) D0D0U0D0D0D000DO00O00D0OU0OO0 f.r000000000DO

(2) 0000000000 vec2dowble 0000 D0DD0ODOUOUOOOOOOOOOD 3000000000
obooooOobooooobobooobooboooooobooooo

/* 00000000000000000 £000000 double OO */
double vec2double (O OO0 array, O00O0O size)

{

return U000 f_1(array, *size); /x UODOOUOO0 £ xr0000000O0O0O =/

}
(3 00 f100200000000000000000000UDO0O0O00OD fMin0O0OOO00OO

(400000000000 OOU0COO0O0OOOO0OOO0OOOO0UDOOOOOO0OODOOODOOOD f.100000
ooobooooo folgbobobobobobooboooboooooooobooboboboooboooooooboon
ooooD fol00000O0bOOO0OODOOfor0D00OD0ODOODO £f1,fx000000ODO0O

() J0O00OOO0OO0O0OOOOUODOOOODOOOO0OOOOOOODOOOO 2000000

() J0D0O0O0OUODOOOOUOUOOOOODUDOOOODOUDOOOOD £r0£1000000000000000
gboogooobooboobobboobooboon

(7)) OO0 £_r00000 (tailrecursion) 00 000000000000 OOO0OOODOOO f.1000000000
gbogbobogboboboobobaobaoboobobooboboobuobbsfrgboboboooban
gboobooboboboobob f1000b00boboobobobddfser0bobo0ooobOobOon
gboboobOoboooobobooooboboooooboooooan

(8) Ocaml, Haskell D DO OO0 00O0OO0O0OO00O0O0O0O0OOOODOO0OOOOOOOOOOOOO (pure function)d
uboobobooooboooob0 fr, f trd00oo0obobooobooboooooboooonbooDn

(a
(b

) f£r000000000f +r00000000
)
(c) fr0 ftr00000000
)

fr000000000f tr00000000

() fr0f_tr0000000O0
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2. NOOOOOOODOOOOODOOONO MOO 20000 dat[][]0D000000000OO0OOOODOOOOO
000000000000 NULLOOO (\0)0O0000O0O000000O0000ooo0ooooooooooooo
gooooo
0J00d0d0ooooooooOooOo0o000d0000ooooooooooooco00oooooooooooooon
0000O0000O0strepy( )0 stremp()000000000000000
dat[i][j]
i0la|p|p]|l |e|\o
Yolr |a \0

2lbla|n|aln|alo
3

=)
«Q
D

() D0D00000000000000 (0000)00000000000000000000000000000
0000000 (20000 datfi][j]000i00)00000000000000 -1 00000 ssearch( )00
00000000000000

#include <stdio.h>

#define N 5

#define M 10

int ssearch( char a[][M], char b[] );

int main(void)

{
char dat[N][M] = {"apple","orange","banana","peach","grape"};
char str[M] = "grape";
int pos;
pos = ssearch( dat, str );
if( pos >= 0 )
printf("found at pos=%d\n", pos ); gdao
else
printf("not found\n");
return 0O;
}
int ssearch( char a[][M], char b[] )
{
int 1i,j; u
for(i=0; i<N; i++) {
t
}
return -1;
}
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#include <stdio.h>
#define N 5
#define M 10

void sshift( char a[l[M], int p );

int main(void)
{

char dat[N][M] = {"apple","orange","banana","peach","grape"};
int i, pos = 4;

for( i=0; i<N; i++)
printf("%s ", dat[i] );
printf ("\n");

sshift( dat, pos ); Oono

for( i=0; i<N; i++)
printf("%s ", dat[i] );
printf ("\n");

return O;

}

void sshift( char a[]l[M], int p )
{

int i,73;

char sbuf[M];

if ( p==20 )
return;

for( j=0; alpl [jI1!=’\0’; j++ )
sbuf [j]1 = alpl [j1;
sbuf [§1 =’\0";
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#include <stdio.h>
#define N 5
#define M 10

int sm_search( char a[][M], char b[] );
int sshift( char a[]l[M], int p );

int main(void)

{

char dat[N][M] = {"apple","orange",'"banana'","peach","grape"};

char str[M] = "orange";

int pos;

pos = sm_search( dat, str );

if( pos >= 0 )

printf("found at pos=%d\n", pos );
else
printf ("not found\n");

return 0;
} Oo0a0d
int sm_search( char a[][M], char b[] )
{

O
O

¥
int sshift( char a[][M], int p )
{

ood
}
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#include <stdio.h>
#include <stdlib.h>
#define N 10

struct NODE

{
char name [31] ;
struct NODE *next;

};

int main(void)

struct NODE *head, *tail, *trace, *work;
int 1i;

work = malloc(sizeof *work);
head = tail = work;

printf ("Input name:");

scanf ("%s", work->name);
work—->next = NULL;

for(i=1; i<N; i++) {
work = malloc(sizeof *work);
printf ("Input name:");
scanf ("%s", work->name);

}

for(trace = head; trace != NULL; trace = trace -> next) {
printf("%s ", trace->name);

}

printf ("\n");

return O;
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int compare( char *s, char *t )

{
while( 1 ){

s++;
t++;
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#include <stdio.h>

#include <stdlib.h>

#define N 10

int compare( char *s, char *t );

struct NODE
{

char name [30] ;
struct NODE *next;
int main(void)

struct NODE *head, *trace, *work;
int i;

work = malloc(sizeof *work);
head = work;

printf ("Input name:");

scanf ("%s", work->name);
work->next = NULL;

for(i=1; i<N; i++) {
work = malloc(sizeof *work);
printf ("Input name:");
scanf ("%s", work—>name);

if ( compare( head->name, work->name) <= 0 ){

}
elseq{
for(trace=head; trace->next!=NULL; trace=trace->next) {

}
if (trace—>next==NULL){

}
}

return 0O;
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